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INSTRUCTIONS

1. At the start of the examination before attempting the question
paper kindly check your test booklet and OMR Answer Sheet
and ensure that -

- The sertal niimbers of test booklef and OMR answer sheet are
same,

¥ All pages of test booklet & OMR answer sheet are ;)mpcrly
printed and test booklet 1s pot damaged it any manzer. Ne page
of test booklet is smigsing. .

In case of any discrepancy/defect the candidate should immediately

report the matter to the invigilator for repizcement of test booklet &

OMR answer sheet, No claim in this regard will be entertained after

five minutes of start of examination. Candidate will be liabie for it.

2. Answerall questions, )

3. All guestions carry equal marks.

4. Only one answer is to be given for each question.

5. H more than one answers are marked, it would be treated as
WIORE answer,

6. Each question has four alternative responses marked serially as
1,2,3,4. You have to darken only one circle or bubble indicating
the correct answer on the Answer Sheet using BLUE BALL
POINT PEN. .

7. 13 part of the mark(sy of cach guestion will be dedacted for
each wrong answer. (A WIONgZ aNSWer Means an incerrect answer
or more than one answers for any guestion. Leaving all the
relevant circles or bubbles of any question blank will not be
considered as wrong answer.)

8. Mobile Phone/Bluetooth Devices or any other electronios gadget
inthe exaudnation hall is strictly dealt as per reles,

Y. Please corfectly fill your Roll Number in G MR Sheet. $ Marks
will be deducted for filling wrong or inconplete Roll Rumber.

13 I there 15 any sort of ambiguity/mistake either of printing or

factunt piwre in Hindi and English Version of the question, the
English Version will be troated as standard.
Wiarning ¢ 1f a candidate is Tound copying or if any unauthorized
material is found in hisfher possession, FLR. would be lodged against
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Who discharge the duties of Governor in his absence?

1) Speaker of Vidhan Sabha
3) Chief Minister of a State
1) T o e orege
3) TG H g 5

2) Chief Justice of High Court

4) None of the above

2) mwmww@ﬁ
4) e H § B T8

Cons;ée; the following two statements?

Assertion (A) : State Governor holds his office during the pleasure of the President.
Reason (R) : Governor is appointed by the Prime Minister.

In the context of the above two statements which one Gf the foliow_ixig is correct?

1) Both A and R are true and R is the correct explanation of A,

2) Both A and R are true but R is not a correct explanatlon of A

3) Aistrue but R is false.
4} A is false but R is true.

1nd1result.1n whatsapp - 9352018749

Ay & gu e geed W A SRR - 2

T (A) : T A AT T8 W ey @ gy € e e
HROT (R) : IFOure 7 fgRe wemrT 550 gro el #
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1) ASRRIAF wdi £ a1 A% 98 TR RF@E |

2) AaﬁxRa@Héi%WAﬁaﬁmmﬁmi

3) AH&%@(RW%I

4) ATET T WRAL ¥

Which one of the foiio’wiﬁg pairs is not correctly matched?

I) Article :

2) Article :
3) Article :

4y Article :

154 - Executive power of State '
155 - Appointment of Governor
156 - Qualifications for the appointment as Gmemox

163 - Council of Ministers of State

Frefaiga o | @ @ g wEl gane T8l v 7

1) ST -
2) ATEE

N

3) LT
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4y  Consider the followings about the State High Court : (.{/,’ !N RDsl RES

1} Article 213 pravides that there shall be a High Court fo; cach State.
11) Judges of High Court are appointed by President.
ur) Under Article 226, it has power to issue certain writs.

iv) As per the provision of the Constitution of India common High Court can be established for two
or more States. :

Choose the correct answer from the codes given below :

1) iand ii are correct o - 2) i, 1 and i are correct

.3y ii, it and iv are correct , 4) 1,1 and iv are correct

4) W%Ww%aﬁﬁﬁﬂﬁﬁaﬁmmﬁﬁﬁ:
D Al % agme 213 F weww € R e T ¥ U S e 5
i) ooy TE e & el @ fgle ey g e E | |
. iii) ST 226 % ST TEd UG @ § W (Writs) WY %09 & e § |

zv)wﬁaaﬁw%mm%maawaﬁmméﬁvwﬁmwaﬁm-
Tea @1 waat ¥ :
49 B0 20 gEl § i oY & =g cﬁ%@
DL & I | oy 3i,i£:fawiiiﬂﬁ%i
3) i, iii AT iv A ¥ | e Liimmivad E
5)  Council of Ministers of a State is accountable to 1
| 1) State Legislative Assembly | '2) Indian Parliament
' | 3) (}Gvemor S o 4) :Iﬁré%éiﬁent |
nm%mwmﬁ R 2) Wl e % At

3) TSI & Al ' ;l4jwq%€s

6)  Arrange the following posts 0{ a State Secrctamt in hierarchy (Higher to lower) order by using the
code given below.

: 1nd1result 1n whatsapp 9352018749

1) Secyetary

-~ i1) Deputy Secretary

iit) Special Secretary

iv) Assistant Secretary

Code :
® 1) v, i L 2y 1, 0,4, v 3y i, 3 v i 4y i, i, 1, v
L ) .
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iii) fisrs @km
iv) YErs giE
HT .
1) v, il g d 2) 1, i, i, iv | 3) i, i v 4) i}ii, ii, 1, iv
Which of the following is not a function of District Coliectqf?
1) Collection of revenue 2) Maintenance of Law and Order

3) Collection of Income Tax ‘ " , 4) Maintenance of Land record

a%ﬁ%f@aﬁ@ra%wwﬁ%m%mmaﬁ%?

1) e gcmercbw; : ' 2) BT “68{?{%81{ e

3) ST B THATH 4 ﬁmﬁﬁmw

Balwant Rai Mehta Conumnittee was on :

1) Democratic Decentralization

2) Panchayati Raj Institutions

'3) Rural Development

4) Community Dcvelopmént programmes

e T e g 8 - ' | | |
I)Fﬁmﬁiﬁzsfa%ﬁﬁwq? ' 2) ErE T dene .
3) e R w . 4)%@%%{%%@%

Which of the following articles of tile Ctmstituuon was inserted ihrou gh the 73" amendment regarding
Panchayats?

1) 243 t0 243-T 2) 244 10 244-P, 3) 243 to 243-0 4) 243 10 243-7ZA

- FysiferRee ddenfes el § 4 @ A aigeie darad % e § 73 velew Zw st o 7,
1) 243 ¥ 243-T 2) 2444 244-P 3) 243§ 2430 4) 243 9 243-ZA

10) Panchayati Raj is a svsté';h‘ of indiresultin ' whatsapp - 9352018749

D Local government N ' 2y Local sélf goverament

3y Local administration 4y Rural Jocal sell government
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11) Consider the following about State Legislative Assembly :

1y It'stermis Five Ygar _
ii} Itis chaired by Chief Minister
iif) It is directly elected by the people

iv) Governor is empowered to dissolve it

Code :
1) i,iiandiv are correct 2) ii, iii, and iv are correet
- 3y i, tii and iv are correct 4) i, # and iii are correct
. 11} wog faum o & e & sehffeg w far S

i) ToE T e O ad da ¥

i) A orema e Tl g ¥ |

ith) ZEeRT S BT v & 4 Pt g ®

iv) TR @1 ZE e @ s €

in ge:  indiresult.in whatsapp - 9352018749

n 1) i, i w iv W | o 2) i, iii, T iv 98 ¥ |
i 3) i diwived §1 4) 4, i 7 i w8 ¥ |

f Lo 12} 1n which of the following games, India has won Wo_i{}d Cuﬁ m October 20167

1) Kabbadi "~ 2) Football . " 3) Hockey 4) Lawn Tennis .
12) Pefefem § 4 G H wre @ o 2006, H A B o 0
1) #ad 2) PeART L3 wE 4) @ e

13) In US President’s election 2016 Donald Trump was a candidate of :
1) Democratic Party : ", 2} Republican Party
3) Constitution Party - 4y Green Party _
13) 2016 % iz v aifen % el g SR oa Pl woriifes TE F oieaR 8 7
° 1) Emmfew urdd 2) fratemes wé 3) @ElegyH wiEl 4y 0 i
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14) When did NITI (National Institute for Transformation of India) Aayog came into existence?

1) IstlJan, 2014 2) st Nov, 2014  3) IstJan, 2015 4y lst Jan, 2016

¥YOUR SUCCESS PARTHER
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14) 9 HeeE B NIT] 0 9§ atffereg 7 amrar ? |
1) 15Fad, 20148 2) 19y, 20048 3) 1 9wad, 20159 4) 1598, 2016 §
15) Goods and Service Tax Council ((}S»‘T) of India is headed by:

1) Prime Minister ' 2) Finance Minister

3) Finance Secretary 4) Speaker of Lok Sabha

15) wree @ GST uftwg #61 stem &

1) v o= | 2y fer uy
3) T4 wfm 4) Wi wu e
16) Match List-T with List-IT and select the correct answer using the codes given below-
List-1 Listll
(Mountain Types) o {Region)
A) Young folded _ . L i) South-Eastern coast of North America
B) OM folded ' i1) Western coast of North Amﬁnca
C) Volcanic 7 © i) South-Western coast of North America
D) Fault-block ' i) Clrcum Pac;ﬁc belt '
Codes : - : o

A B C D
1) nooi iv iii

2) i H v i

3) N 1] i v
fiiooiv o i
1@;' g;:?f Ja@ gdr - Jmeﬁfﬁfmﬁwtﬁaﬁqwﬁwmﬁm—waﬁg—
o st el : i e -1 ‘
(e ) o CGEY ,
A)gﬁraﬁa . i) _*ﬁﬁaﬁﬁmaﬁ?ﬂ‘\m f{cﬁ“ﬁa
0) W@ﬁ ﬂ SRS L HE “ﬂu uxﬁﬁ:m 7 aﬂmr Bt
D) 447 - B|E _ i) Wﬁ E%’Sﬁ—f qEr 4
e R o 1nd1result n whatsapp 9352018749
ACBEC D -
1) i i v i
2y i d dv i
3) Wi i iv
2% . & | _, I | - PTO
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17} Match List-I with List-Il and select the correct answer using the codes given below-

List-1 List-1I
(Mountain Peaks) {Continents)
. A) Kilimanjaro 1) South America
e B) Vinson Massif ' 1; Australia
C) Mount Kosciusko iif) Aniarctica
D) Aconcagua " iv) Africa
Codes : V
- A B C D
. D oivoi i
i 2) i dv i i
i 30 i v
4) iv i i i

17) gﬁ{aﬁqﬁi}ﬁ@%ﬁmw%ﬁqﬁq@mmmﬁww |
T -1 o GRS

(e favay) | o o (R
A) feferatrd D R el
i B) fre Afir i omeRwm
C) stz Ff) ) oherfem
s D) T iy o \
. A B C D
i v i i
2 Eoav i
34w v | IR
L 4 dvoE i

18) Which one of the following is the correct sequence of World’s Oceans/Seas in descending order of
area occupied? o _ :
© 1) Atlantic - Indian - Arctic - South China
2) Atlantic - South China - Arctic - Iizdian
3) Indian - Arctic - South China - Atlantic
4y Arcfic - Atlantic - South China - Indian

18) &5Ea & JFIE HH H Ta99 % AETEE / TR & B 0 W WA ST o - ary v
e e S é\mindiresult.in whatsapp - 9352018749
(R Lo . oy -+ G
2y wewifes - el 9 - srbies - e -

3y i - o - s A - e C{’glNDlRESULTQ
8
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19) Match List-I with List-1I and select the correct answer using the codes given below-

{(Particulars)

A) World’s wettest spot

B) World’s driest spot

C) World’s northernmost town
D) World’s southernrost town
Codes :

1)
2)
3
4)

B
v
i
i

jii

D
iii
v
iii

iv

List-IT. »

(Spots) N :

e ()INDIRESULTE
MEWS}'I}FHIH

Ushuaia

Ny-Alesund
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"19) - 1 -1 e i e A fiw e an w a w e g

)
A) 5T @1 wET W
- B) Ryg & gesan wE

C) fagm @1 y¥ - W o
D) [9a & 4 - Rl 9T

FE -

0
2)

3)
4)

A B

v

i
i

iil

D
il
iv
11

v

a:&r -1

i) EhiE

iii) gger
vy A -uEgs

20) Match List-T with List-II and select the correct answer using the codes given below-~

List-1 )

- {Wetland Ecosites)
A) Bhoj

B} Chandratal

Cy Schiur

[y Rudrasagar
Codes :
A B

1)
2)
3)
4)

iv

i

i

1

J)INDIRESULTE
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D

i

iii

iv

List-IT
(States) . i+

: Himagchal Pradesh

Madhya Pradesh
Tripura '
Jammu-Kashmir _
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20) g Tw g Hé‘gﬁ%ﬁaﬂmwﬁﬁqﬁqfﬁammmmmgﬁq
gl -1 : o -II
(sTEyfy wivRaRTE W) (?Wa)

' |y i
L e R @INDIRESULTE
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D) T5HEre iv) @Ry - e
e | | |
A B C D
N
2 i i iv i
3 0 di v
4 i i i v

21)  Which one of the following would be the best strategy for ecoiogy*fnendly sustainable developme
in Indian agriculture?

‘1) Improved farm implements and machinery, use,of poteﬁt insecticides to minimise post-harves
graxn losses and monoculture croppmg practices, '

2) Mixed cropping and use of organic manures, mtrogen-ﬁxmg plants and pest-leszstant crop
" varieties.

i
|‘g

3} Wide use of high-yielding crop 'Varieties, better and more frequency of aerial sprays of inorganic
fertilisers and pesticides. ‘

4) Expansion of cultivable land, increased use of -s#'per phosﬁhate,' urea and effective bioacids.

21) Wﬂzﬁiﬁmﬁﬁaﬁa@r ﬁaﬁwﬁa%&"@gﬁqﬁf@aﬁéaﬁ? - g S oeeas 'R 7
1) TE B SUH Sl Aeid, Wm%aﬁméﬁmﬁwawﬁ%@wm
ﬁm&mmmﬁmwwmi :

2) f?{f%iﬁ@ﬁiwﬁaaﬂbmmm@ra CENE ﬁwmﬁ?ﬁ‘d E{ﬁmmﬂwmﬁm

3) ey e WWWWWWWWWWWWRWM ERGIER
q ehlesnotnl B g Ty ewE |

4) e i %7 frmw, T wieee, iz aammm S - o aﬁéw%m T |

22) Tropic of cancer and 80° East longitude divide India into four quadrants. In which quadrant are the
maximum cotton growing areas located? '

®* [} North-East 2} South-West 3) North-West - . 4y South-Last

(:7/9 INDIRESULTE indiresult.in whatsapp - 9352018749
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22) =% var g 80° T d9rAR ARE &) aw agulel | fewiiaa wv € %Haga&nﬁmm%
Haffees & ferg € 7

1) T - o 2) e - wivew 3) wer - divew 4) o - o

23) What is the root cauge of shlftmg tendency of Indian cotten textile industry from Mumbai towards
Ahmedabad?

- 1) This-industry has the advantage of early start in Ahmedabad.

2) Land in Ahmedabad is cheaper than Mumbai

3) ngh quality cloths manufactured in Ahmedabad are in large demand in India and abroad as
well. :

4) Ahmedabad enjoys more im;j_bﬁ»cxport facilities than Mum_bai-. _

23)%%@&3@3@#%5@%%%@6&@%@?%@%@%%@ wT R 7
1)3’9%@&@&1&*%@&@@@4%%3; '
2) erevEEE § qfy g el s ge ¥ | ‘
3) v § Rt ger wife % aeil B AR g R § o Wi g
4)wﬁg@seﬁmwmmﬁmmmau

indiresult.in whatsapp 9352018749
24)  Which of the followmg statements regarding physical features of Ra_;a‘;than isfare correct'? Select
the correct answer using the codes given below- _
1) Hadauti plateau is bounded by Main Boundary Fault in North-West.
i) 41.50 percent area of western sandy plain is sand dune free region.

i) Stmcturaﬂy, physical fcatares of Rajasthan form part of northern great plains and peninsular
plateau of India.

1v) Aravalli in the prescnt tnne emsi as'residual mountams
Codes -

1) i iiandiii - 2) ii, i aadxv - 3) ianéiii ¢+ 4) Onlyiii

24) Wm%%m%w&:ﬁﬁmﬁﬁﬁqa%ﬁ wl /@ - 8 wue o § A fan
FHT W WANT Y 9E wet g -
1) = yen widEmmY § e 9En gan 2 g ¥ _
i) ufyedt YEe faw @ 41.50 wREeE o ST A T R |
m)ﬂmﬁwﬁeawwmmﬁmmw%mwmmmﬁamfmmg
V) SEdT T oafire ueEl w9 9 Sueed

e
(.7 1) xuuﬁ?m 2) i, L8 iv 3) i o i 4) A iii
%)INDIRESULTE | o
ﬂ YoUR succE §H“ NER indiresult.in whatsapp - 9352018749
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25}  Which of the following statements regarding climatic conditions of Rajasthan 1‘3/3!’6 correct? Select
the correct answer using the codes given below- :

1) Climatic conditions of Rajasthan exhibit extremity of temperature and rainfall,

i) Durmg the last ten years amount of rainfall has decreased in western desert part, while increased
in Mewar.

~ iii) Sudden onset of South- -Hast moisture laden winds over an mtensely heated 1andmass is the root
cause of scarce rain in Western Rajasthan.

iv) Climatically major part of’ Ra}asthan lies in sub-tropical 3 zone.
Codes : '

1) iandii 2) ii and iv 3) Liiandiii  4) iilandiv

25) . o @ ey % we H Frafafad § & # - w0/ B § e ww ¥ 7 A Ry e @
AN Y T TER gAY -
D) ST % ey aumd are ud ol ) ARG whe e E 4
n)ﬂ?{&“@ﬁﬁﬁ%ﬁﬁ%&?ﬁﬁ&fﬁ%ﬂﬁ% m@%%ﬂﬁ@ﬁ%i !
m)@f\mﬂwﬁwwmq\ﬁwaﬁ WW@WW @W@WW[

B M99 T
w)aaa}ga%a%a%wwmama@wwmmﬁﬁaﬁ%
D idmi 2) iiaﬂuv 3 i.,ﬁaﬁmi 4 _i,iia?r{iv

P o

26)  Match List-I w1th List-I and f;elcct the correct anSWe1 “using’ the codes given below-

List-T ' o T List-11 - 3
(Soil Types) ' f‘f LS (Climatic! Regzons) e
A) Atridisols b Addandsemiarid 7'
B) Inceptisols o ) Serm-.md and humid
C) Alfisols : i) Sub-humid and humid
D) Vertisols . o iv) Humid and super-humid

. Codes : .
A B C D

indiresult,in whatsapp - 9352018749 '7
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26) |1 - L0 A - 10| gAier $iiorg agr i oy 1 e &1 9an ST 9E 3er g -
e - 1 G| .

(g1 % U - (SERy E9)
A) ufeiEry | | 0 gk U eig - %
B) ZAHwIEA i) o - g Ud o
C) v | i) ¥ - o wd o
D) gefE ! . iv) g Ud A - o
e _ o '
AB C D

1} S (S VR

2) vooi i i

3y dv

4) iod i v

27} On the basis of legal status (31 March, 2011) examine the following staterments 1egardmg forests of
Ra;asthan and select the-correct answer using the codes given below-

1) Of the fotal forest area in Ra}asthan reserved and protecteé fozests respecmfely constztute 5584
_and 37.94 percent.

ii) Maximum reserved feresﬁs n the State are found in Udaipur and Chitt()fggll'h districts.
iii) Mammum protected forests in the State are, found in Baran and Karauli districts.

e 1v) Maximum nnciass;_ﬁed fgrcsts in the S'_zaLe are found i in B_i,kaner and Ganganagar districts.

Codes - : .

woe 1Y inaﬁdw 2) 1, iiand iii- 3. id, iiiandlv 4y Onlyi ..

27 %@’ﬁﬁaﬁﬁaﬁ‘fmqﬁf2011)%%%@@%%@%@%%%%@3%@@@%%
Ao A8 Ru g me @ vk aY gl e gig -

i) TR % PE aq o H Ariia vd WEE g9l w0 s w5584 9 37.94 uvm B 1
ity v # wed o mBE 9 veayr @ fadiee B ¥ oo o F |
ity o weg st WA S AT F e LRl HqU S Rl
w)?mffﬂa‘é“v%%ﬁﬁewﬁwaﬁsﬂmma riieldoélﬁmﬁiﬁ%l

1) i, it o iv 2) it eﬁ-s i 3> SRR o LA
28) - l ajasthan desert is quﬂe unhkely from other dcsons situated 1n similar Iatztudes of thc Woﬁd What
is the Jogical perception about desertification process here? P

I} It starts due to drought,

2) Tstarts and expands from desert heartland. (c?/' INDIRE

. YOUR SUCCESS PARTHNER
3)  Hostarts and expands from arid regions.

4 fustarts and expands due to overgrazing, over ploughing, deforestation and improper management
of soil and water.

. indiresult.in whatsapp - 9352018749 o
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28)Wﬁ%@ﬁﬁg&%ﬁﬂ%ﬁﬁﬁmmm@%ﬁmﬁﬁ%twwmm
% WY WO TIYE UeE § 7

1) 9% T & BT 9T B 2 | 7 :
2) e 4 e e A ('(/, INDIRESULTE
3) UE U A3 e 7 i A
4) Tz R, fdEem, ﬁaémvr W%am%aﬂ%ﬁw%mmawﬁa%%r
: 29) In which Agricultural Year during the last three decades more than 90 percent villages of Rajasthan
P were hit by unprecedented famine and drought? _
1) 1987-88 2y 2000-01 3) 2002- 03 a 4 2009-10
i 29) TTHE?FM:’ECMfr{Mt&idﬁ%ﬁ?ﬁ@&%@@ﬁwmﬂﬁmﬁﬁm@@@%ﬁ
o - wm?
: 1) 1987-88 gy 2090_—0"1,' - 3 200205 S 4y 2009410

- 30) Examine the following statements regardmg deveiopment of barren Iand in Rajasthan and select
the correct answert usmg "the codes given below- = . - _ : _ _

i) Currently (2013 14) baﬁen iand coasuiutes abeut 19 percent Of totaI reported area for }and use
purpdse in the State. :

‘ . i) OId fallow land has recorded about 18 perceﬁt decfease over the Tast 30: years in the State

iii) Onus of development of barren 1&nd in the State hes with the Naﬁona} W&steland Deveiepment .
Board. . S : : : - '

' iv) Integrated Barren Land Development Project is being current}y ran i’ 10 dismcts of the state
with the co- ope;.ation of Swedish Intemataonal Development Agency (SIDA)

Codes : ' : . st o ’ i

D iand i 2) iandiii o 3) nandzv v -‘j'4)“i,'iiandiv

30) Wuen?fi*fW@W%Wﬁ%%ﬁmﬁmﬁﬁqﬂmﬁﬁqmw%ww |

) ?‘WHW(ZOB 14)ﬁgmﬂs§gaq%aﬁmﬁﬁa§m19g%m%ﬁw@%1
n)qu%m%gﬁmqﬁmmmﬁwaﬁaﬁrm%l | '
;n)W%WﬁfﬁMWﬁWW%W&@WW%W#%%

'w)mqmwa@mmwwﬁﬁmﬁﬁ?mwm(SIDA)%W?T%W
T 10 FFa o g W E |

FC |
o 1) Qi 2) i oy ddri 4y ey o
” ] | ‘indiresult.in whatsapp - 9352018749
@wowresug o sapp- 9352018749

T e e
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31)  Inview of increasing number of dark and grey zones in Rajasthan Central Ground Water Authority
of India has put total ban on exploitation of ground water in which of the administrative blocks of

the State?

1) Bhinmal, Todabhim, Toda Raisingh C:.?//)INDIF{ESULTE

2) Bcht‘or. thnmai, Smajgafh, Dhond, Shf] Madh(}pur YOUR SUCCESS PARTHNER

3} Surajgarh, Desuri, Deoli
4} Behror, Osian, Mahuwa
31) e QGFETQ?I HH (darkandgrey)wﬁa@ﬁfﬁméﬁ e Ud & $9g 9 - Ad
TR ¥ 199 & b UsTae @vst 8§ ufipr sreeey ur ool e s 41 ¥ 7
1) i, erm, di T ' |
2) @l HEHw, GO, e, A
b 3) AR, SN, dael
4) @ede, i, wgan

{ 32) Odd out the incorrect statement regarding livestock numbers in Rajasthan-

1} Rajasthan constitutes 11.27 pércént of total livestock numbers of India (20'12)‘

2) Livestock numbers of Rajasthan increased by 10.69 lac from 2007 to 2012.
3) Donkeys and mules recorded maximum increase innumbezfs'from 2007 to 2012.

4) Camel recorded maximum decrease in numbers from 2007_3:0,20'32.

32) Wmﬁﬁwwm%mﬁmmmﬁaﬁ%q-
1) RSN § HRA 1 P GYE O BT 11.27 Sior v S 7 (2012) 1
2) w2007 & 2012 % TrowenT ¥ G He # 10,60 A # IE g ¢
3) =9 2007 §F 2012 et g weed o d@n § waltvw ghy g ¥
4) & 2007 & 2012 # S P wen  waffm ww g R

33 Which of the fol‘lowing;ché_lhg@s occurred in cropping pattern of Rajasthan _since-i?irst__}’ilan Period

til] 2012-13 isfare cotrect? ' A - R

i) Arca under cereals has increased.from 42.5 to 56.0 percent.

i) Area under pulses has declined from 21.0 to 13.5 percent,

i) Area under oilseeds has increased from 6.2 to 20.5 percent. :

{v) Area under cotton,. sugarcane, guar, fmits,'\}cgetablés, spices and fodder crops has increased
from 16.8 to 23.5 percent. o '

Select the correct answer using the following codes -

* D i, H and i 2) iandiii 3). Onlyi 4y i, iii and iv

: G;'//a |ND|RESULTE . indiresult.in whatsapp - 9352018749

YOUR SUCCESS PARTHMNER
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33) R U 9 e H 2012-13 9% s uisy A uRa R A a fm o
1) NI % S A 42.5 9 ageRt 56.0 ufaed & war § .

i) AL W % 21,09 W. 13.5 9feTe 78 T B | (.?/‘/‘ INDIRESULTE
iii) foere & =i e 6.2 F agsy 20.5 wiaer & 7@ ¥ | U s |
iv) %, T, TR, B, U, HEI 9 G G 5 SRR Se 16.8 9 gt 23.5 vivew & mr b
1y i, i 3R i 2) idrii 3)  %ae i 4) i, iii &
indiresult.in whatsapp - 9352018749
34)  Match List-I with List-IT and select the correct answer using the codes given below-

o 7
YOUR SUCCESSIPARTHNER

List-1 ~ ListIl
(Lift Canal) (Beneficiary Districts)
A) Jai Narain Vyas i) ‘Bikaner, Nagaur
B) Choﬁdhary Kumbha Ram ity Jodhpur, Bikaner .
C) Panna Lal-Barupal ' 111) Jodhpur, Jaisalmer ‘
D) Dr. Karni Singh _ _ iv) Hanumangarh, Churu l
Codes - | :
A B C D
1) I S R A
2) i v i i
3) W v i i
4) v i il

34) -1 - 09 g A e g % 9 R T g a1 S e e g

- 1 - ey

(e 27) _ (et By 7 _
A) ST e | ' i 5 ‘- E{'hﬁbﬁ’{, ‘TPTR N "h‘ﬁ:‘e-i;????«"
B) werdl gy L D), SR, deeR
C) TEE - g e i) ey, e
D) = e | iv) . BT, 9

&He .

indiresult.in whatsapp.- 93526
A B C D i

T A T (UL
2 i dv i i
3 dioiv i i

4 d ivoi i

YOUR SUCCESS PARTNER
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35)  Match List-I with List-IT and select the correct answer using the codes given below-

List-1 List-11
_ {Minerals) ' (Mining Areas)
A) Emerald - i)  Tikki, Garhbore
1 B) Gamet _ ' & if) Rajmahal, Bageshwar
| C) Manganese . e iii) Leelawani, Kalakhuta
D) Copper ' _ iv) .Kothan, Bhagoni
Codes :
A B C D
D i Hi i iv
2) il it i iv
3) R TR T B
4) iooivooi i

[ 35) Qcﬁ»Iee“rqﬁnnﬁgﬁiﬁaa%ﬁmaaﬁﬁ%ﬁqﬁﬁwmmﬁ'ﬁwﬂm"
| gt -1 | - 11 |

() o | (@ i)
A) w= D Rw TmER
B) #ag! S if) - ¥reTmed, A
C) HTS - ifi) | FAEE, BIAEE
D) dafar - | iv) i, T
&He . , : :
A B C. D

1 I SR V1SS TR

2y i1 v

) i i i v

CH gy i i i

r

36) &Q}Qgﬁ!e basié of industrial potentialities assessed by various Public Sector Financial organisations
o G%%QQ RFC, RAISICO etc.) which districts of Rajasthan have been included in category ‘A’?

13 Jodhpur, Pali, Ajmer, Alwar indiresult.in whatsapp - 9352018749
2} 'Bikaver, Jodhpur, Bhilwara, Jaipur : , '
3} Alwar, Tonk, Chittorgarh, Ajmer

{ (.?/ .14) Hota, Ajmer, Udaipur, Bharatpur
(7¢)\NDIRESULTE
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36)  mrwi @ % R R ETe (RICO, RFC, RAISICO aﬁ)mmﬁaaﬁaﬁﬁmw&ﬁ
% FER WA A0 H IO F hE-y e et fmm gy

1) gy, oW, S, S 2) R, SEEE, SEETET, TR

37)  Which of the following statements reg'irdmg population trends in Rajasthan is/are cerrec:tr? Select
the correct answer using the codes ‘given below -

i) Decadal growth rate of the State population has declined 9.97 percent during 1991-2011.
ii) Population density of the State has increased more than six timés during 1901-2011.
iii) Trend of sex ratio of the State has been even during 1901-2011.

iv) Literacy rate of the State has increased more than eight times during 1951-2011.
Codes : - ' ' -

1) iiandiv 2) iandii 3) dflandiv . 4) iiiandiv
37 Wﬁﬁﬁ%ﬁ%ﬁf%mﬁﬁmﬁaﬁﬁﬁaﬁﬂmfﬁ#%%mw% f?ﬁ%ﬁqmﬁ‘é
_ 1 I w5 wd T g - indiresult.in whatsapp - 9352018749
i) wswma%asmuqﬁm 1991 2011%&‘“1113997 nf%fsmaﬁ% |
i) o H SeEE & g 1901- 2011 % 2R = w%aﬂ%mm%f
iii) T W formawa @ sy 19012011 %: SR U G 78§
iv) T § Feal 57 19512011 % 2RM e qond e 9d ¥

ey 2) idRE 3) - iii @R v 4y LieRiy
38) Match List-T with List-II and select the correct answer u'sing the codes given below-
List-1 : : List-11
(Percentage of Tribes in (Magor Habnats)
Total Population of Rajasthan, 2011}
A) Less than 20 percent - iy. -Baran, Bundi, Karauli
B) 20 to 25 percent ' i) Chi_t_tbrgarh, -I_{jaj‘samand, Jhaiawa?
C) 26 to 50 @ei“cem iliy Udaipur, Sirohi, Dausa
13) 51 to 80 percent _ , iv) Banswara, Dungfirpm Pra%dpgqrh
" Codes . :
A B C Do 1nd1resu1t in whatsapp 9352018749
) R R T L
2) i THEE ¥ S A
3) i iv i Hi
iv i i

YOUR SUCCESS PARTHMNER
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38) g -1 g - U gl A A B9 Ru e g @ vl w5 ad oo gf -

et - 1 g -1 |
(TR W e SR (e TETH-ET) 7 .
8 i s, o). (;// INDIRESULTE
A) 20 SR & A b A, &, wie enn menEEE AT
B) 20 ¥ 25 wfger ' iy T, e, FeEs
C) 26 9 50 wfas i) wEugy, OE, de
D) 51 9 80 ufagra iv) SHaErEr, $IYE, FATIE
T
A B C D
1D N HE T 1
2) i i i dv
L3 i v i i
) ioodvo i i
r 39)  Match List-I with List-II and select the, correct answer using the codes given below-
' List-1 o List-1I
(Tribes of Rajasthan) (Major Habitats)
A) Sahariya o )] Duhgarpa_ir, Banswara
B) Garasiya . > _ ' - i) Udaipur, Sirohi
C) Damore R jiiy Baran, Kota
D) Mina _ - iv) Jaipur, Dausa
Codes : -
A B C D
Wi di v
i i v
i i 1 iv
i i i iv,

" -1 R
LT & mﬁ%m"f) o SRR 11 awva%sz)
Ay yefan - i) gy, e

) il i) - TEUY, FRE
¢y BHiN (:?/JINDIRESULTE i) &, @

YOUR SUCCESS PARTNER

) Hot iv) SEE, &

g indiresult.in whatsapp - 9352018749
A B C D : '

1} i i1y
2) ioodL iv
oo i iv

T i iv

19 PTO




GHW

40)  Which of the following development programmes are pot dn‘ectly related with improvement of
tribal economy in Rajasthan?

i) Modified Area Development Approach and Cluster Project

ii) Rajasthan Mission on Livelihood (RMOL) (' INDIRES

iii) Mewat, Dang and Magra Area Development Programme TOUR BUeESE RARTHER
iv) Swarnajayanti Gram Swarojgar Yojna (SGSY)

Codes :

1y Onlyi - 2) l1andii 3} i, 1 and 1 4) ii, iit and iv
indiresult.in whatsapp - 9352018749
40) 1 | e e sRiy voreny § sl srleaen % gur & v W%ﬁ?ré?% ?
1) welfer & - e IO A HET A |
i) TR SEiaE M9F (RMOL)
iii) FER, 2T qu W A e s

iv) Tl I 'R AN (SGSY)
) i 2) idRi 3) i, i Wi 9 ii ifi 7 iv

41) How many unemployed ‘persoris have been.estimated in t:otai 3 crore labour force ef Rajasthan as
per population census 20117. «

1) 201ac 2) 30l 3) 38lac 4) 33 lac
41). aﬁzonaﬁwmméawwa%gﬁa3m%sﬁ%ﬁ(1abouxforce)n%aﬁéﬁarmw%
sift my ¥ 7 |
1) 20 @ 2) 30@mE 3) 38awy - 4) 3BE™

42)  Which of the following facts about unemploymerit rates in Rajasthan is/are correct acéording fo 68"
round 2011-12 of National Sample Survey Organisation (NSSO) usual status ad jus[ed, (UPSS) mode?

i} 0.9 percent males of total labour force are unemployed in mrai areas, e
i) 3.2 percent males of total labour force are unamployed in urban areas. o o
ii) 3.1 percent persons of total labour force are unemployed in whole State. TRt

iv) Unemployment rates are much higher in rural areas than urban areas.
Codes :

®* 1) Onlyiv 2) iandii - 3) diandii 4y i, iii and iv

Clg INDIRESULTE indiresult.in whatsapp - 9352018749

¥YOUR SUCCESS PARTHNER
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42) TR e SEE 5 (NSSO) % ad 2011-12 % 68.9 4% % ergun ey § A fufy
(ErEiforE) & R S o s A Pm A A AR - m /B - T Ea § / E 2

i)y Tver @ 0 e ol & 0.9 ulhvie yuy Sl § .
i) o o H oW aw-afed % 3.2 ufdee ey g9 € | )

- i) Tl oo H g s & 3.1 wfe =R e E C‘, INDIRESULTE
iv) ored) 8 %) crdEm I &S F ATRrTd 9 of 9o ol £ ;

YOUR SUCCESS PARTHMNER

e | )
1) e iv 2) 19T 3) i ol i 4y i, il & iy
: 43)  Which of the following development programmes in Rajasthan were amalgamated in Swarnjayanti

Gram Swarojgar Yojna (SGSY) since 01 April, 19997
i) Integrated Rural Deveiopment (IRDP) and Training to Rural Youth in Self Employment (TRYSEM)

i1) Development of Women and Children (DWCRA) and Industriai Tools Supply in Rural Areas
(SITRA)

iii) Ganga Kalyan Yojna (GKY) and Million Wells Scheme (MWS)
iv) Jawahar Rojgar YOJna (JRY)
Codes :

1) Onlyi 2) iandiv 3) i ii ahdiii 4) i iiandiv

43) -Wﬁ@hﬂﬁ?mﬁmm(msmﬁm aa‘a“er 1999@1%%1%1‘#2{%? %ﬁmmézm
ot fae a2
i) g g e (IRDP) ar areie o @@aﬂn yi¥err (TRY SEM)
i) Telor g ¥ At @ R (DWCRA) @ St s e (SITRA)
i) 7T eBeToT AT (GKY) a Fferast el @M (MWS) :
: 1v) FRIEL uus*u( ozl\rl-ﬂ (JRY)
1) %ad i 2) ¥V - 3y e v 4) ey

44) - Approximately how many persons in total population of Rajasthan have beer estimated as poor in
2011-12 according to C. Rangrajan Expert Group.Report 20147 - :

.1y 112 Crore ' 2) 1.51 C}"@‘G , 3) 235 Crore | 4) 90 Lac

44y . drosm e ew e, 2014@@&@201112&?1"{%@%%&%@
Topemy safdm el aifp o 7

) 112 %t 2) 151w 3) 235 %03 4 o

Q Y)INDIRESULTE
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45) Which of the conclusions obtained from poverty ratlm calculated for Rajasthan according to Suresh -

. Tendulkar method is/are correct‘?

i) Poverty ratio in rural areas of the State has mcreased by 10.3 percent between 20()9 10 and-
2011-12. :

ii) Povérty ratio in urban areas of the State has d@clmcd by 9.2 percent between 2009-10 and 2011- 12. |

ii1) Poverty ratios in the State have declined in bot,h the years 2009 10 and 2011-12 compared to
India. - -

iv) Poverty ratio in 2011- 12 was csumated 14 7 percem for Rajasthan and 21.9 percent for Indza
Codes : ' o . : :

1) dendii - 2) iandiv _ 3) i, nandm 4) ii, iii and iv

45) @STWW%WW%WW%m
i) m%mﬁsﬁﬁﬁmmww 108 2011- 12%% 1035:%%*&@%1
i) T % oredt gl H e SrpERr 2009-10 % 2011- 12 % g 9.2 sfsry wer ¥ |
i) T H & gut 2009-10 § 2011- Izﬁﬁmexwﬁwa%mwa%% _
iv) 2011- 123&%@%&3@%% 147nﬁfamﬁmwfrzl9q%smmwl

ik . indiresult.i in whatsapp 9352018749 |
) ielwi 0 2 igRiV 3) i na?mu 4) i, i FRiv
46) In which period ‘Amrawati Stupa’ was buiit_?
1 Gupta S, 2) Mduraya’s- 3 *:.Sétvah_ané’s | 4)' Vardhgn"s
46) mmt%w m%ﬁm%ﬁrmﬁgﬁw? e _
n oTE 2 & 3) e )

A7) Who discovered the ‘Bharhut Stuﬁa’ in the }‘f‘f;af}i’g??_s AD'? Ei
B Marshal 2) Kanigam | :3} KS.Lal -~ 4) BX Thapar

47y 187%%1%%@: aﬁt@ﬁam“—ra%eﬂ? . ._
1) ek ) wREm 3 BT A ) LB AW

48) Where is ‘Danchand Chopra’s Havelli’ Situated i R’_é_ijastl'}an‘?"f.‘ T _ |
1) Bikaner ~2) Sujamgah 3) Khadi | 4) Kishangarh

48) waam W EwER diow @ e gt Rud B P o
1) A 2) WG foRERE! R i

¥YOUR SUCCESS PARTHNER
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49) Who built the famous Fort of Mandu?

1) Hussain Shah 2) Bajbahadur
3) Mohammad Shah | 4) Kumbha
49) iy % st fobet et For fentr o o 7 N
1) ghasme 2) AR 3) dienE 9 4)
50) What is ‘Cheda Fhadna’ in Bhils?
1) Festival 2) Divorce - 3) Mariage ~ 4) Birth of Son
50) fiEi + wer wEAr ®E 7 _ | -
D) ErR 2) T 3) fare 4 g

51) In which of the following Maharaja’s Darbar ‘Gandhaw Baisi’ was present iz_l the form of 22 poets,
22 astrologers, 22 singers.and 22 other subject specialist? -
1) Maharaja Man Singh - : 2) Mabharaja Jai Singh

3) Maharaja Bhagwat Singh - o 4)' ‘Maharaja Pratap Singh - _
o indiresult.in whatsapp - 9352018749 = - .. ‘ )
S1) T 5 § feoqr HERIST & aeR § 22 i, 22 SHife, 22 Wies wd 22 e fasom % w9 F e

arely’ e ot 2
1) wew HERiE S 2) e vEE
3) HERRH WIEHiE o 4) wERT ST
52) ‘Namadi aﬁd Rangdi’ are characteristic*c;f which I.ang&age? ‘ ,' ;
1) Hadoti 2) Mewati 3) Malawi  ,  4) Ahirwati
52) ‘Frdr vd Ty o Sl @ Fade ¥ 7 )
1) EE L D 4)
53) Who established the ‘Alkhiya Sect’ (Sampradaya) ? o N
1) Lal Giri - | 2) Bhola Nath + 3) «Charan Das 4). Sant I_jésji__ ,
53) “sreiEa WHEE ) W e w7 | I
1) @ fl) 2) siew A 3 =70 ‘<‘=TH S e 4),Ha TE o
54) During which _Mahara}:a’s rule “Ramprakash Theatre™ was es"_t:a‘t:ilished in Jaipur? |
1) Maharaja Ramsingh I 2) iMahdraja Ishwari Sz;?gh o
3) Maharaja Vijay Singh 4 Maénia;dMangmbh
54) sragy #§ TwweErst e @ e By qene & e § R 7
1) S UEEE - 1 2) wEmT gtie
@NOFESULTE e oo '
U VOUR SUCCEST PARTNER 1nd1resq1t.;r__1 whatsapp - 9352018749
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55) ‘Bam dance’ is famous at which place?
1) Alwar-Bhartpur 2) Jaisalmer-Barmer

33 Jaipur-Ajmer

4) Udaipur-Sirohi .,
" (#WDiResuLTa

YOUR SUCCESS PARTNER

55) mm g1 el @l AiirEg 9 E 7
1) A - STAE 2) SEEET - aRET 3) STauT - o 4) wEaR - AR

56) To which form the ‘Sugan Chiri’ is considered as Lokmata

:{ 1) Sawangiya Mata  2) Naganchi Mata 3) Ayad Mata . 4) Shitala Mata
"56)_"Wﬁé’ﬁ%ﬁ'mmmmqwm%? | o
| 1) wifter " 2) SR AT 3) TEE Y 4) i T
| 57) Who was the Guru of Balindji? '

. 1) Dadu Dayalii 2) Ramcharanji 3) Sundardasii =~ 4) Manglaramj
ST) st b g o

- 1) = &aw Wi . 2) TeETor Y B)EWW_G%- ' 4) e A

58) Which Lok Devata is known by name of ‘Jaha@eer"?

3 : 1) Hadbuji ‘ 2) Ramdevji 3j Devnarayanjﬁ - 4) Gogaji :-
58) ‘werdR’ % AW ¥ B § Fi agar & AT AAE 7
eSS .2) e - 3) daemrger o 4) i i z
z 59) Whois consfdere;d‘as Lokdevi of Alwar region? RS | g
1) Sugali Mata 2) Sachiya Mata 3) Jilani Mata " - 4} Latiyala Mata,

59) et G R B wy H B weRT AR B 7

1) g A 2) wfrr A - 3) fomml A 4) el A
60) Molana Village 1§ famous for which handicraft art? . ‘ -
1} Teracota 2) Meenakari 3) Bluepottery - '4) Thevakala
60) T B A i R e R uE B 7

D ghEe ) im0 3y egud o 4) dewen

'61) What is “Jannotan’ in Rajasthani Culture?

1) A Dinner given by the groom side 2) Measurement of Land
/.. 3) Aype of Lokgeet T4y An Agz‘icuiiﬁural Tax
(/.‘/I, INDIRESULTE indiresult.in whatsapp - 9352018749
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61) wrswr deply § e e ¥
1) Fe-ug & ST o foor oW gren Wi
2) 4 % A

3 s T A @INDIRESULTE

YOUR SUCCESS PARTHNER

4) TH FI T
62} In Bhil tribe who wears ‘Kachawo’? \ L

1) Men - 2) Women 3) Young Boy 4y Children
62) e ety § worg @ ggee ¥ 7 | :

1) 39 2) st 3) TG W 4)

63) What ié ‘Aulondi’ in Rajasthani Culture?
1) A type of Marriage

2) Alocal game
3) A girl or woman accompanying the Bride-Groom

4} Rajasthani Lok Geet.
63) TR HEp H Sl e g 7
1) FerTE @ U SR
2) uF I @w |
3) TEAY % A A a9 wgw a1 S
4) TR AR
64) What for the ‘Chanduji ka Gadha énd Bodigamé Places’ are famotfs?
1) For manufacturing of Teer-Kaman ‘ '
2) For Meenakari work
3) For Kundan Art
4) For Jajam Printing
64) ‘el e wer e Ay v fees fou Prenm g 7
1) drwme Fmf & foo | 2) Al % e
3) g w % g o 4) e wuE &
65) On which part of the body ‘Ballaya’ ornament is wore? _
1) On Head 2) On Ears ":} Of} Nose | .43 On Hands

65) ‘awrar SHNUY el YEE e £ 7

el) i W yHRE . B wwmd 4) et
C.'?/,’ !Npﬁl ‘BE§HE_IE indiresult.in whatsapp - 9352018749
e PTIE .
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66) Six people, Parul, Rajendra, Satish, Tarun, Vishal and Prakash, were all born on the same day of the
year. But each was born in different six consecutive years. It is also known that _____
a) Parul is older than Satish |
b) Rajendra is older than both Tarun and Vishal F{// INDIRE SULTE
¢) _Prakash is 2vears older than Tarun J NOUR SUCCESS PARTNER
d) Parul was born either in 1962 or in 1963
¢} 'The oldest member of the group was born 1960
Read the above information and Answer the following question
Que - Which of the following group is correctly listed from the youngest to the oldest?

1) Satish, Parul, Rajendra, Tarun, Vishal, Prakash
2) Satish, Vishal, Parul, Tarun, Prakash, Rajendra
. 3) Satish, Vishal, Tarun, Prakash, Parul, Rajendra

4} Satish, Vishal, Tarun, Parul, Prakash, Rajendra indiresult.in whatsapp - 9352018749

66) ©: afeRr, U, TS, BT, T, fasme of St @ S A i A ari b ge I Bh
ST gl o Waﬁ@mla@ﬂﬂm@n%ﬁs
a) TER EIg A e ¥ |
- b) TG G I Ryne dF H dEr R
¢) WeBiST AEU § & a9 FET© |
d) 9rEe @t a1 aY 1962 g1 99 1963 # T |
e). WY & W H T 99 1960 7 g1 |
IRy EA B Yo oI fitea Wy w IeY el |
T - W%w@@%@%mwﬁa@mﬁwﬁwﬁé%?

1) G, ureel, T, T, F9E, S
2) g, e, wrsm, aeul, 9Ty, T
' 3) ey, e, aw, S, e, T
4) wT, RS, qHT, UTEW, YEBTST, T

67) 1f in a certain language, ENTRY is coéeci as 12345 and STEADY is coded as 93]785 Then how
will the word TENANT is coded?

1) 316169 2) 396243 3) 3;272‘3 SN 312523’

67) afe fedr smar % e e § ENTRY %1 12345 & SILADY@ 9%1783%‘@?&@ & TENANT =
® FTETmdl § zeff Terean a7

o 1) 316169 - 2) 396243 3) 312723 0 4) 312523
(-'f//, INDIRESULTE indiresult.in whatsapp - 9352018749
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68) A, B, C, D, E and F are cousins. No two cotsins are of the sarhe dge, but ai} have blrthday on: the o

same date. The youngest is 17 years old and E the oldest is 22 years old. P‘ is somewhere between B L
and.Din age.-Ais older than B, Cis oldcr than D, S

Which ~f the foIlowmg statement is not poss;blc‘?

- INDIR U
1) Fis 18 yearsold . 2) F1320yearsold VOUR SUCGESS PAR 1..”
3) Dis 2().3g;,ears old - - | s 4 Fi IS 19 years old _’ ‘ E .

‘68)ABCDE@TFW %zfas%ﬁsﬁaaa%mﬁﬁggwﬁmmmﬁw:
WM@W%EW@WI?WWWHQHW@EZQWE@'*%|f~w} -
%WM%EAB%W%@RCE@M% o

T e e E E e , :
1 Fa%sa"isemf%t )Fa%wzoaﬁ%'i
3) D ”EIZOEW%I o 4) Fa%zfgwats%%l

7

69) Ifinacode }anguage “PLAYER” is written as AELPR 7 Then il thc same Ianguage “MANAGER” C

. wﬂE be wriften: as e B . . P
1) AAGEMNR 2) AABMGNR " 8 AAEGMRN 4) AAEGMNR ,

| 69) gfe: Tl e Fe PLAYER" B “AELPRY” f%@ rvrér a‘f 1‘%& i ﬁf g MA_NAGE » @r.
,1) AAGEMNR Y AAEMGNR,“-) . 33._'AAEGMRN o ;AAE«:GMNR:L- B

70) A person walks 8 km in the East direction. There from he moves 5 km m the I\oﬂh W{:st d;rectton W

from starting’ pomt 2" : PR S "
}) South - Ed%t :__2:)_ Soum-'Wés;t?_ 3_) We‘stf-_-qu‘t_};, L

A.i%ﬁ . af?&%w%saﬁa‘:ﬂaf%“ l %m%%a@mmq%?w%ﬂ{wﬁ L7
1)3@*@1 G 2)&:%{9? qféaq 3)%2;??11:{ *a? : 4395335 qg
71) “The number of siudents ina school mcwases and decmse@ bv E{)% respec:uvcly in evez} ahemaie

- vear. If there was increase in the year 2000 then in- how much percefitage wha{ happened in ﬂ}L B
number of students in the vear 2003 1 n comparison to vear 2000, ‘ g o :

1) 8.9% decrecase '- x 2) 9.8% incr ease 3) 8.9% 111(:1::&80 4) 9 8% decmgse

71) Q%t@qmﬁwﬁnga&ﬁmﬂ 1o%a%q%mafﬁrém€ﬂg %mzuoeé:rq%_ :
w‘amzaazoomawzeooﬁmqmﬁmwwmmemm? R S

. 1)89% o 2)98%# o 3>89%qﬁf R 4)98%*' 7
( ’!NPJUBE§QRIE | 1nd1resu1t in Whatsapp 9352018749
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72) If-the cost of production of an article is 2/5 of its marked Ietaﬂ price, If it is sold at 10% discount
then what will be profit?

1) 25% 2) 40% 3) 50% 4 125%

72) afe ferddt a%g 1 T T 39 W Sl @R T A 2/S § AR Al 39 10% %) ¥ W et W € a6
fererm @ B 7
1) 25% 2) 40% | 3) 50% 4) 125%

73) A cycle seller gives 10% discount on marked retail price and still earns 26% profit. If marked retail
price of the cycle is Rs, 840/- Then how much money was paid by the seller for that cycle?

1) Rs. 600/- 2) Rs 650/ 3} Rs 700/- ' 4) Rs 750/-

73) U rEhw feder wfee % ol WEY HRT W 10% & we A ¥ 1 v R o 26% e e ¥ 1 afg
OEiHA @1 Geu 3ifha ged T 840/- ®, 1 Fohal ¥ 39 WEeW & fon R @ guan e ?

1) T 600/- 2) X 650/- 3} T 700/- 4 T 750/-

74) Two things were sold at same sale-price. One thing got 10% profit and another suffered 10% loss.
The difference of their purchase price will be in multiple of which number, E

Tell .. indiresult.in whatsapp - 9352018749
b 10 S D20 - 3 4) 25

74) ﬁa@qwﬁmw@aﬁnﬁiwa@wzo%mwﬁm@ﬁwm%ﬁaﬁaﬁ | T
&9 gl § o form A % OTe OB 7 A ..

D1 2)20 3) 15 - 4) 25
75) What wil} be the next number in -Lhe givé'n S{f,ries? '
03,28,4, 65,5, 126, 6, ... : -
1) 264 2) 317 3) 217  m s
75) < Tt spger | siendn der w6 ? 3,28, 4,65, 5, 126, 6, ?
1) 264 a7 Doz M 26
76) What will come at the piéi,é;e _7__ In the given series 9 N - . .
BZA, DYC, FXE, 7,IVI )
1) HAG 2) HGJ 3) HWG . 4 HYG | §

76) T EE H 2% W O A ¢ BZA, DYC; TXE,? Vi
1) HAG 2) HGI 3) HWG 4) HYG

77}y Two trains of same length are moving in the same direction at the velocity of 46km per hour and
36km per hour u,spccuvely The fast train crosses the slow train in 36-seconds. What is the lcngth of
each train? -

® 1) 50 meters - 2) 72 meters 3y 80 meters 4y 82 meters
F/:/,’ !NPJ UFC{CEE§ ULl = ~ indiresult.in whatsapp - 9352018749
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77) waT wETE H A o 9T @IEAl U U A GST H uen 46 i o uiy wer siw 36 fE. A1 uf
EfeT o1 e 4 o 2E E | S He arelr 8 o 8§ 36 Aihvs A o T o B | e 5
W el 8 ,

1) 50 Hiex 2) 72 Hfex 3) 80 HiEx 4 821%3—{

78) A car driver starting from Bengluru at 8.30A.M wants to reach a place 300km away from Bengluru
at 12.30 Noon. At 1030 A.M. he finds that he has covered onIy 40% distance. How much speed of
the car he has to increase to reach at stipulated time 7

1) 45 kmv/hr 1) 40 Kmv/hr 3) 35 Km/hr 4) 30 Km/hr

78)@65%1%3@?@#@5@%:8.30@%%?@300%ﬁ@@m%%lzaewqﬁaﬂ
© AR E | A 103059 98 dua B T s A% T S R Iﬁaﬁﬁaqugaﬁ%ﬁa*ﬁ
WY B MG T geE B 7

1) 45t g 2) 40 A /d 3)35%5.3% /€‘@ . 4)30%.&1./2@

79) Out of Rs 20,000/~ Prakash gives some aiount on iéan at simple interest rate 8% .p'era_nnum and

rest amount at simple interest rate 3 % per annum. At the end of year he carns Rs 800/-. The

amount given at 8% rate will be ......

1) Rs 8.000/— 2) Rs 12,000/-. . 3) Rs 6, GOGf- 4) Rs 10,000/

79) mswzoeooznﬁ@rgﬁwﬁ S%ﬁmaﬁ%mmmﬁr{mmﬁ %?ﬁ{iﬂwﬁ[ﬁﬁ

mﬁm%%ﬁ%iaﬁ%%ﬁﬁ?SOOi—ﬁmaﬁﬁﬁ?ﬁ%iS%WRQ?EHW@{’T&
et B o !

1) 8,000/ ) rin 000/- Y %60(50/- 4 710,000 }

80) A person takes a some amount on loan at 3% per dnnum szmplc interest payable annually. Immediately
he gives it 'on loan at 5% per annum compound interest payablé haif yeaﬂv At the end of year he
earns pmfit ol Rs 330/ Htm much amount he tooks on ‘loan? :

1) Rs 17,000/- 2) Rs 16500~  3) Rs 16000~  4) Rs 15,000/~
SO)WGW%%W@WWM@WW ST R B | At 28 5 9 S S% At s

WWoW%éﬁT%iﬁ%m%”ﬁmSOﬂﬁmwméIwmuwﬁﬁmﬁf

| P Bl \

¥ 1) 717,000 2) T 16.500/- 3)R16000~ 1 4) T15,000-

é % 81) If at the rate of 12 E% per annum the compound interest is Rs 510/-. \What will be the simple

% ? interest op same amount for the same period at the same qﬂﬁiéﬁ‘of Interest 7

1 * 1) Rs 400/ 2) Rs 450/- 3) Rs 460/- " 4) Rs 480/
‘ (/’ INDIRESULTH  indiresult.in whatsapp - 9352018749
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81) o 12 E%Waézwwmmismﬂ ER R R R e I AL A
wwaamama
1 % 400/ 2) T 450/- - 3) T 460/- 4) 7 480/-

82) :Sort out the word which is different in some sense in the following group.
(a) Geometry (b) Algebra (c) Trigohometry (d) Maths (e) Arithmetic

1} Arithmetic 2) Maths 3) Algebra 4) Trigonometry

82) f‘ﬁmwﬁ%ws@’ﬁ@% Sy e a =
- (o) TR (b)é‘f‘rﬁ’ﬁﬁ”ff (c)i%rﬁmﬁ'eﬁ (&) TR (o) diHRE

-anemﬁm R . S 3) it 4) Brepwiadl
83) thch is odd Word in these 2 Tell
' - (@) Bzrba} (b) Abul Fazai ey Tansen (d) Faiz Ahmad (@) Fodarmai

S Abui Fazal B 2) Tadarmal _ e - 3) Bzrbal o 4) Faiz Ahmad _

83) s?ﬁ%ﬁa e o § ? arm% 1
5 (a) eﬁm ® \‘da(d TR (cY A (d)%r IEE (e) A AW

1) cﬁw ‘iﬁﬁi‘r{ S 2) ?ﬁ?i{ o +3) dra 4) 9 TEHe

“ .f ‘Vin ciass of 105 stud@nts cmt of three SubjCCtS Maths, Phyexcq Chemlstry each student studxes at least
L, one subject In Maghq 47, in Physzcs 50, and in Chemistry 52 students studies. 16 in Maths and.
: Physacs 17 in Maths and Chehistry and 16 iit Physics and Chemistry students both subjects

s What wﬂl be Lhe number of students who studxes all three subjects ?

2)6 [,_4)4

105%@1‘:’%’@("&%&&%%&%%@ Tr?‘t‘fra ﬁf?ﬁﬁﬁﬂﬁ?%ﬁﬁﬂﬁ%mmﬁﬁwﬁiﬁﬁ"

; Qzﬁﬁfwm‘é TR 47, diiferes frsr & 50, 7d vamE e H 52 fendt sremae € 1 16T
WWﬁww@maﬁan%mmﬁm%&wﬁaﬁﬁw}
"ﬁwrwwaal :

mﬁ%&ﬁ&mmﬁaﬁrmﬁaﬁmwﬁ?

| ”‘ﬁf\-‘ns Sy Y PR

E

> 42 785) Ina dass 01‘ IOS studerits out of three %ubjects Maths, Physics and Chemsuy each student stydies

s  atleast oné subject. In these 47 students studies Maths, 50 students studies Physics and 52 students

. . studies Chemistry and 16 Maths and Phy%w% 17 I\/s'aths and Chcmmuy and 16 Physics and Chemlstry
" studénts studiés both: subjecm

thl will be the numbm of Ehese students who Stud;e% only two sub]c,at% ?

.1)%17 Ly

% J INDIRESULTE

oo 3) 33 . . Z) 34
. indiresult.in _Whatsapp - 9352018749
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85) 105 Ferenfoiat & we wer 7 4 fawar - nﬁm%ﬁ%asﬁammw:qamﬁmmﬁmﬁm
H %9 OF 99 ved ¥ | 3 47 v, S0 diftes e gan 52 e e 9w & | 16 vt oiR
Hifes fagrs, 17 nitm of vaee foems awn 16 it e v e faem wed ©

T il @1 dea @ B, A a9 6 v ae § 7

)31 2y 32, 3) 33 4 34
. 2 . 2
86) What will be the square root of L) —©01) +1
0.001x0.1
1) 10 210 3) 0.1 . 49
(0.1 - (0.01)? . & _ '
86). +1 2t H I
) 000150, g I
1) 10 210 3ol 49

87) The ratio of ages of Aand B 4 years before was 2:3. And after four (4) years zt will becomes 5:7.
After 2 years their age will be ..... ? :

1) 36 and 40 Years 2) 34 and 50 Years 3) 42 and 58 Years 4} 38 and 54 Years

87) 4@‘1%@7/%6%?8?«‘%6%@@@1323%!W4WQSWE%“W57§TWHE2WWW
I G B L

1) 36 &7 40 o » Mdws0Td 3)42@1-?1?5864& 4)38@15461& |

7 : .
88) A completes - 0 part of work within 15days. Thereafter with the help of B, he completes the rest of
the work within 4 days. B alone will be able to do it if how many days. .

D21 days )35 days, . 3) BIpdays 4 307 days

88) A fefi e & ;)Wﬁ IS’?&’?{‘?{%W@%I@H@ qswiq\Bﬁﬂaml@fsﬁmaﬁﬁaﬂﬁ{(f

%iBWW@WWW%ﬁWMM ?
p a2 35y, Rad 3) 28_.%2 fet 4) 39%3}3?{?{'

89) If the value of (102)7 is 10404, then value of Jm;; 04 + Jg 0404 + /0. 010404 wﬂl be
Iy 11.022 2) 10.322 o : %) 11, §22 | 4} ]3.322_

89) af (102 @1 T 10404% | 1 /10404 + 41,0404 4 /0.010404 1 7T Frl o

1) 11.022 210322 3) 11122 4y 11322

v -
@ INDI"RESQ!‘_T% | indiresult.in whatsapp - 9352018749
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90) In an alloy proportion of Zinc, Copper and Lead is 2:3:1. In another alEoy the proportion of Zinc,
Copper and Lead is 5:4:3. A third alloy is prepared by mixing both alloys in same quanuiy The
proportion of l.ead, Copper and Zinc in the third alloy will be.

1) 774 2) 9:10:5 - ' 3) 6:74 4) 5:10:9

90) s firsy wng o o, aier AR 9T 2:3:1 % AR § § | gud My g A S, a AR st 5403
% TG | § | AT e argsi B wer A § e S ey arg el S ® | aed Brer oang
5 ofror, afar Si ST ®7 ST e |
I} 774 2) 9:10:5 3) 6:7:4 4) 5:10:9

-

91) Fill in the blanks using the correct tense (of the verb) :
When 1 (open) the door, 1 . -(see) a man on his knees. He (listen) to our
conversation and 1 (wonder) how much he (hear) '

Options ™

ﬁ 1) open; see; listens; Wendered heard

2) opened; saw; had been listening; wondered; had heard.
3) opened; saw; has been listening; wonder; has heard. .

4) opens; sees; listen; wonder; hears. ‘
- : indiresult.in whatsapp - 9352018749 -
y 92) Choose one of the following sentences which is the correct Passwe Voice of the senience given

below : (Do not mention the agent) _

ACTIVE VOICE : You will have to pull down this skyscraper as you have not cemphed with the
town planning regulations.

[) This skyscrapcn bulldmg w1£1 be palfed down as the town planning wgulzmons are noi comphcd

with.

-2) Thxs skyscraper buﬂdmg has to'be pulled down as the town plannmg 1eguiations were not

complied with.

3) This skyscraper will have to be pulled down as ihe town planning regu%ai;o;is haw not been
compilcd with, ’ '
4): This skyscraper should be pulled down by you as you have not complied with the town planning

» regulations. | indiresult.in whatsapp - 9352018749 -
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93) Choose a sentence with the cotrect Indirect form of Narration; (:/,, INDIRESULTE

YOUR SUCCESS PARTHNER

Direct : I will sell the TV set if you keep quarrelling about the programme”. said their mother.
*“No, don’t do that | We will never quarrel”, said the children.

Options: -

1) Their mother said that she would sell the TV set if you kept quarrelling about the programme.
The children said, don’t do that as we would never qu.a}"rei | f

2) Their mother told that the TV set will be sold if they keep quarreilmg about the 9mglamme The
children forbade her to do that, &aymg that they will never quarrel.

3) Their mother threatened to sell the TV set if they kept quarrelling about the programme. The
children begged her not to do that assuring her that they would never quarrel.

4) Their mother threatened that she should sell the TV set if they kept quarrelling about the

programme. The children, rcqucsted her do not do this as we would never quarrel.
1nd1resu1t in whatsapp - 9352018749 '

94) Choose the correct set of articles to fill in the blanks : (Use X, if theré is ng article)
explosion in last house

He said, “As matter of fact, there was |
I visited; and Mr. Beans, ownet.of - . house, was burnt in ’ face.

Optio_ns:
1). a; X an; the; the; the; the g 2) the; a; an, X, the; the; the
3) the; the; an; a; the; X a;° ' 4):: the; th,é;'X; the; a; a; the

95) Fill in the blanks choosing the correct set of prepositions : :
' mistake I opened Sylvia’s letter instead .~ ___‘my own. She was very angry

me and said that I'd done it Purpose

Options: : R

1) With; of; on; with | 2) By; of;:on: with
3) On; on; with; with 4) By;of; with: on

© 96) Identify the INCORRECT sentence: (in which the Verb js not in Agreement with the S‘ébi@(}[)‘
" Options:
1) Age and experience brings wisdom to man.
2y Neither Mr.Y nor Mr. Z has any ;‘ig}1{ to the property.

3} The ship’s crew was & mixed group of different nationalities.

4) When the ship arrived in part, the crew was taken into cuxtody on 4 (,haiﬂ{: of mutiny.

@ INDIRESULIE 1nd1resu1t.1n;whatsapp - 9352018749
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97) Choose the correct set of English translation of the following Hindi Words:
(in right order) | g

T o 8 s (#)WoiResuLTz

1) Currency decrease; salary zenith; copyist

2) inflation; increment; transcripti‘on '

3) deflation; inscribe; counter-copy

4) decreased income; increment; translation

98) The most suitable set of Synonyms of the word ‘generous’ is : -

Options:

1) thankful, grateful, indebted 2) _ﬁberai, bcuntifai, magnanimous

3) gentle, humble, tender 4) stately, dignified, exalted

99) The most suitable gntonym of the word ‘misanthropist’ is :
Options : . ' |
1) Philanthropist 2) Anti misanthropist

3) Amiéanﬂampist 4) Disanthropist

100) The most suitable ‘ong word substitute’ of the following words are; (in right order);
(a) fear of confined spaces; (b) a pefson who has an irresistible desire to steal,
Options:

1} (a) agoraphobia; (b) pyromaniac ' :
2) (a) spacephobia; (b) dipsomaniac

3) (a) clastophobia; (b) theftomaniac

4} (a) claustrophobia; (b) kleptomaniac

101) Which is the fastest memory?
2) Hard Disk

1) €D ROM |
4) Cache Memory

3 Auxiij_ary'Memmy

101) wad &9 90 2 7
1) CDROM 2) wid femn
3y SR (TErEE) e 4) et FAE

102) Which key of the keyboard is mainly used to cancel the program?

-.;‘jg!. X

/., 1) Del Key 2) Enter Key 3) Ins Key 4) Esc Key

7%

C‘./) INDIRESL‘!LTE indiresult.in whatsapp - 9352018749
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| 102 3o v @ e v goh % wm A e T 8 g 2
1) Del st . . . - 2);En£er@'\.‘:ﬁ o 3) Ins gl 4) Esc g5l
103) Shortcut cémmand for align the text in centre?
1) Cul+E 2) Cul+T - 3) CulR 4) Cil+C

| 'msmqeﬁﬁ(@a)ﬁm'(@m)masmmﬁm%.?

1) Cul+E 2) Ctrl+T
104) Muitimedia contains? -
1) Audio
..3) Bothland2

3) Cul+R 4 Cul+C

2) Video
4) none of the above

- 104') :RQ{ ﬁﬁ%m?ﬁn% ] 1nd1result in whatsapp 9352018749..

1) e ()

105) DNS stand for - |
- 1) Domain Number System

" 3) Data Name System

, 105)1)1\?8@ a'rm?% £
D) = T Rt
3) ster i foew
+106) 1 Kﬂobyte is equal to -
..+ 178000 Bits |
| _3) 512 Bits

106) 1 firtae g @ 1

1),8000 e 2) 1024%3--"

= 107) 1 Nlbbie is equal to - :

1) 4Bit 2)%:.Bit.
107)1%?@?(@@%_? :
1) 4fag  psfe

108) Highest capacity of the storage are -

* 1) Terabyte

Q/glNDmESULTa

YOUR SUCCESS PARTHNER

2)_; fafee L)) 3) 12 E

2)_ Yotiabyte' '
o 1nd1resu1t 1n whatsapp 9352018749

4) TF H BE el

" l2)h"i)oma_in Name System

4 No_né of the above }

2) 1024 BHS
4) None Of the abgve

3)16Bit o 4) 4Byte.

’%) Z@t%abyte - 4) Exabyte
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108) WUBHU (F1T) Pl Toaad &9 2 | -‘ @lNDlF{ESULTE
1) erEEe 2) drgr AEE | 3) gt anEe % NU4R) T amE
109) The Speed of modem is measured in which unit?
1) BPS : 2) GPS
~ 3 CPS \ 4) None of the above
109) A @i =T %1 59 3oE § 91 9T ¢ |
1) BPS 2) GPS . 3) CPS 4) S H B

110) What is the full form of ISDN?
1) Input Service Digital Network
2) Integrated Services Digital Network
3) Integrated Switch Digital Network
4) Input Switch Digital Network

110) ISDN &l 971 A1 & 7

) T wRE e Toad  2) g wR Riew Sor
3) T e R ek 4) T W ffvew e

111) Frferfla § & ol wrge % Wl v wafarerel € - , o S
1) 9 - e, S, Sae, i o | L
2) agelr - agwer, w9dy, dEs, ahe o |
3) qeAl - erEEn, qYE, SN, S

4) frgf - Frificl, s, s, wen
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